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Candidate must write first his / her Roll No. on the question paper
compulsorily.

aft ugT wE e §

All the questions are compul sory.

T A HT S G TS IW-Yeaent ¥ & o |

Write the answer to each question in the given answer-book only.
= ugai 9 it @ g, 31 At & I T Ty § o

For guestions having more than one part the answers to those parts are to be LE
written together in continuity. pl

¥
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5) uo uA % Rl 9 SRSt ®UWR H fREl TR i g / et / e g W Eh
W & W9 H O WE A

If thereisany error / difference/ contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.

6) LCLE T W& 3 T U9
H 1-13 1
g 14-24 2
| 25-27 3
3 28-30 4
Section Q. Nos. Marks per question
A 1-13 1
B 14-24 2
C 25-27 3
D 28-30 4

7) wwA wEn 24, 27, 28, 29 3k 30 ® s faweu gl

Question Nos. 24, 27, 28, 29 and 30 have internal choices.
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Qug - A

SECTION - A
FEYUTET H TR T | [1]
Define Polyembryony.
ssaa fhl wE B0 [1]
What is Oogenesis?
Tehel e WeRTUT hi TRATT Sarsd | [1]
Define monohybrid cross.
fom fafor 6 gfken | | 9 TR & gEE U9 w2 wEAT 2| [1]

Method of Sex determination in which male produce two types of gametes is
called.

FgEen fafeo w1 v e SR [1]

Give one example of adaptive radiation.

Fdeh A g TSR h! HEAT H# UIQUl o1 3T i ht fafer o= swgedt 22 [1]

Method of producing thousands of plants through tissue cultureis called.
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7) wae w1 Am faRed R su=i urew I & Suemr o feRn s 2)

Name the fungus which is used in the treatment of plant disease.

8) wmrEm: sfed e fhR wEd 27

Which is commonly called brewer's yeast?

9) fwa “srurfaes d=h oft wg war B2

Which is also called as 'molecular scissors?

10) sngafyrra: wumaia sfra (GMO) &t uftwma i

Define Genetically Modified Organisms (GMO).

11) stgafres WM & =R @ Tty w1 am faie)

Name the method which is used to cure hereditary disease.

12) ft.en. €. &1 gu am e

Writethefull form of BOD.

13) e armasa i ulam d=)

Define Biomagnification.
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SECTION - B

14) fies =, S Y sredifafy 2, S wRu e awaed | [1+1=2]
g
tifaferem o e 1 Efies 91 GEEe & W Jdgd|
Sexual reproduction is best method of reproduction. Explain with two reasons.
OR

Give the name of asexual reproductive structures of penicillium and
chlamydomonas.

15) 31U &% | wE auEd | [1+1=2]

Explain two functions of placenta.

16) fr=t 2 wgEes = Wenfifeat w1 aueme) [1+1=2]

Explain any two assisted reproductive technol ogies.
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18)

19)

20)

21)

6
T -9 AT i THTTE i aTt fohegl IR ueeht o A fafa) [4xY5=2]

Write the name of any four factors which affect the Hardy Weinberg equilibrium.

YIS & 32YT Fasd | GHIUT hi AHS | [1+1=2]

Mention the aims of animal breeding. Explain cross-breeding.

e 3Gl ° geHsial & g U Fargd| [1+1=2]

Mention the two uses of microbes in household products.

Ffrerm giafufm g scow sfafaw Sdiew giatufam it #7378 ara 2 s
FaTEa | [2]

Why does toxin produced by Bacillus thuringiensis does not kill the Bacillus
thuringiensisitself givereason.

Jrlifera ekt & ufa g arelt sgfraned w R ISR R TWeER | [4x14=2)

Explain responses to abiotic factors by giving four example.
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22) wWu Wy i [1+1=2]
A) gdT oz & Tl wAag J9
e § e % A g i Wid WA S U e
) wEEE del f ut fi Tag w W
Sy 3R W H TR T W TS gl
Givereason:

A) Aquatic mammals of polar sealike seals have athick layer of fat below the
sKin.

B) Desert plantshaveathick cuticleontheir leaf surfacesand havetheir ssomata
arranged in deep pits.

23) drEn wE w A AT FE A TR 7w @ W R mmw [1+1=2]

Write the genetic code which has dual function and also writeits two functions.

24) g <o fafaum = = w@xfya s i 6 @ wwron @ awened) [1+1=2]

Why should we conserve biodiversity explain by giving two reasons,
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26)

27)

8

wQus - ¥

SECTION - C
gurgy 1 fwio fme wifveR gro g @7 Roegfafae @ gegutea st & T %
FHROT H TE Fd T TAH & IGO0 G| [1+1+1=3]

HAYAT

T fF8 g 37 STIgaeist ¥ U UTe(Ush StWUg sl SXeHT 1 9ui hifu)
[1+2=3]

Which cell developsinto the endosperm. Why seed devel op into non-albuminous
and albuminous explain with suitable examples of each.

OR

What is megasporogenesis? Describe the structure of typical angiosperm ovule.

A uegg o fam ffed) uie o s gu e diet 3 giler ® &S it Svmita
iz [1+2=3]

Write law of Independent Assortment. Show the inheritance of round yellow and
wrinkled green seeds using a punnett square.

YERTS €t UF U @t ufeta il DNA @ & 92eaul T faen™ 6 9o soaeimiRied
fafa = awzmER) [1+2=3]

Define recombinant DNA. Explain gel electrophoresis method of separation and
isolation of DNA fragments.
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9
»us - §

SECTION - D

At uqed &% 1 "ee ferie
ST aeEn @ wieE ki & DNA fgghectt afea =t wfem # wwgmzal
TR uici-giamaiess yeen & foa gl
[1+2+1=4]
Fya
F0AU 9 HARTAU § & a1 R a3
DNA Heeht @ Fnfsm wform § wwzme)
freraam &1 e T
Writetwo criteriaof genetic material.

Explain in brief the DNA double Helix model of James Watson and Francis
Crick.

Draw adiagram of double stranded polynucleotide chain.
OR

Write any two differences between DNA and RNA.

Explain packaging of DNA helix in brief.

Draw the diagram of Nucleosome.
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29) a1) wuferen fra wga €7

9) g SieRen % w3 & el H wHesa|
@) Uk gfaweft ooy Y A w1 o waTR)
[1+2+1=4]
arat
) HARE AN & WS &1 AW e
q) HARE ueiel & ek @l Gfom | ansrgd|

d) uARE WSl & Siaqeeh &1 Adifhd o T Ed)

a WhatisIlmmunity?
b) Explaintwo barriersof Innate |mmunity.
c) Draw the structure of an antibody molecule.
OR
a) Writethe name of pathogen which causes malaria
b) Explainthelifecycleof malarial parasitein brief.

c) Draw alabelleddiagram of lifecycleof themalarial parasite.
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30) 1) diwehwreh foRd whEd 27

q) URAA H WCHTE T H1 Ui Hi |
W) Uk U IR a3 W RIERRA Tk & e Higd &1 fo sArga|
[1+2+1=4]

Fya

HA) URET &t uiwrea Hifa |

) umifeafas fuife =t guzmsa)

") o0l & Uk ey fifie = fom T

a WhatisNutrient cycling?

b) Describe phosphorus cycle in ecosystem.

c) Drawadiagramto show thesmplified model of phosphoruscycleinaterrestria
ecosystem.

OR
a Define ecosystem.
b) Explainecologica pyramids.

c) Draw adiagram of anideal pyramid of energy.
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